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1 &
BE=A=t—HILEE
—2E-F —ZET=F —TENF —ZTTHF ZEBEREF
BEHETT BAEEET A¥EERLT A¥EERL B¥EER
(#£E71))

EEERE 3,757.2 2,311.3 3,590.9 1,882.9 1,400.2
AR (E5E) 122.4 (44.6) 200.0 545.4 364.2
HiIE (20.5) 0.1 (49.4) (1.2) (7.6)
FE LB ES 2 nA (EE) 101.9 (44.5) 150.6 544.2 356.6
IR TS 2 B8 — — — (59.6) (5.2)
FERH (BHE) 101.9 (44.5) 150.6 484.6 351.4

T (L -
VIN/NE] ) 7SV =N 104.3 (44.3) 147.7 481.9 314.8
DERRE S (2.4) 0.2) 2.9 2.7 36.6
101.9 (44.5) 150.6 484.6 351.4

2. EEHEE
R=A=+—H
—EE—F —FTE=F —TITNF —TTHFE ZEEREF
BEHET BAEEERT A¥EERLT A¥EERL B¥EER
(#£E7))

BEMRAE 2,825.9 3,244.1 3,738.3 3,987.1 5,982.5
BERR (1,467.9) (2,008.0) (2,322.5) (2,014.8) (3,561.4)
1,358.0 1,236.1 1,415.8 1,972.3 2,421.1
RABIRAFEE AR 1,330.6 1,210.0 1,387.2 1,943.2 2,322.6
DEIRRER 27.4 26.1 28.6 29.1 98.5
1,358.0 1,236.1 1,415.8 1,972.3 2,421.1
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